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Let
P, X)) = (x+1) (x+q) ... (x+q" "), n=1,2,... (1)
Po (x} =1
The purpose of this Note is to find the coefficients
a(k,m,n) defined by [1]

m+n
P, (X} p, (x) = kioa(k.m.n)pk(x). (2)
From
n-1 pk(x) m pn+k(x)
p_(x}) = % a(k,m,n)——T—T + I a(n+k,m,n)———T—T—
m k=0 Ppix k=0 Ppix

it follows

al(k,m,n) = 0, for k < n,
a{m+n,m,n) = 1.

It is known that

Pk (X) k -
“+kx = I s(r,k,n)xk =
Pn r=o
where s(r,k,n), r=1,2,...,m, n=1,2,... are symmetrical funda-

mental functions and that

s(r, k,n) = qrns(r,k,o).
Then
m m k
£ s(k,mo)x™ ¥ = £ a(n+k,m,n) I s(r,k,0)q"Pxk"T
k=o k=o0 r=o
from where we obtain
k kn
I s{k-r,m~r,n)a(m+n-r,m,n) = s(k,m,0)(1-~q ), k=1,2,...,m.
r=1
Because
s{r,k,n) = [?]an+r(r—1r/2
we find
k
. {Q_i]qn(x—r)+(k—r)(k-r-«)/aa(m+n_r,m’n) - [?](l_qkn)' o
r=1
k=1,2,...,m
with
: (q)
r] - x 2 k
= e, (q), = (l-a) (l~-g® ...(1-gq7).
[k (q)r(q)k_r' k
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JIMHEAPA3AIIMJA HA MPOAYKT OI Q-AMNEN TIONMHHOMH

Pesume
3a nonuHomurte (1) ce onpepenyma OponykToT (2), uuu xoedpu-—
LIHEeHTH ce JamgeHu co' (3).
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